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* 1 irreducible components of dim¢ = 0, with total 50 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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(i) Arc colorings

w- (1)

ag —

ub + u?
w3 + 2utt + 50 + 6u” + 6u’ + 4u + u
w30 20"+ 20 +ud 4 u
wd +ul +3ut+2u2+1
w9 + 2u8 + 3ub + 4ut 4+ u?
u243u22+~~~+2u2+1>

ag =

—u?0 — 4qu? + . = 3ub 4+ u?

™+ 6ut® + - 4 4ud + 2u
u49+7u47+~~+2u3+u

ayp =

ul” 4+ 6ut® + -+ 4ud + 2u
az = \ u* + 7t 4 20 +u

(ii) Obstruction class = —1

(iii) Cusp Shapes = 4u® + 4u?" + ... — 2003 — 2



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,Cs T T B T |
C2 w4+ 23ut o — w1
€3, C8 u —u® e tut 1
c4, Cg u? —ut + ... —165u+ 25
c7,Cy, C10 W =13+ —u+1
c11 u? +3u + -+ u+3




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,Cs y50—23y49+--~+y+1
€2 O+ 9+ y+1
€3, s YO+ 13y -y 41
c4, Cg y°0 — 31y + ... — 16275y + 625
€7, C9, C10 0 44991 . — Ty +1
ci1 v +5y" 4+ 4521y 4+ 9




(vi) Complex Volumes and Cusp Shapes

Solutions to I}

V=1(vol + y/=1CS)

Cusp shape

0.219529 4 0.9860471

3.94354 + 3.430461

5.76669 — 1.675291

0.219529 — 0.9860471

3.94354 — 3.430461

5.76669 + 1.675291

—0.246085 + 0.9827111

5.58031 4 1.623491

8.34360 — 3.646211

—0.246085 — 0.9827111

5.58031 — 1.623491

8.34360 + 3.646211

0.308256 + 0.9237311

0.40552 — 2.469341

0.87793 + 4.651571

0.308256 — 0.9237311

0.40552 + 2.469341

0.87793 — 4.651571

—0.298826 + 0.9878331

5.26972 + 4.232701

7.37704 — 4.532891

—0.298826 — 0.9878331

5.26972 — 4.232701

7.37704 + 4.532891

0.318075 + 0.9945301

3.36572 — 9.345531

4.11417 + 9.067531

0.318075 — 0.9945301

3.36572 +9.345531

4.11417 — 9.067531

—0.775854 4+ 0.8018321

—2.39389 + 4.710621

—0.14636 — 5.465651

—0.775854 — 0.8018321

—2.39389 — 4.710621

—0.14636 + 5.465651

—0.483537 + 0.7349121

—1.95260 + 5.095791

—2.40884 — 8.507571

—0.483537 — 0.7349121

—1.95260 — 5.095791

—2.40884 + 8.507571

0.811513 + 0.7974751

—1.169710 + 0.1639791

1.95677 — 0.528921

0.811513 — 0.7974751

—1.169710 — 0.1639791

1.95677 + 0.528921

0.852019 + 0.8019971

—2.15185 + 2.585901

0.827994 — 0.6745831

0.852019 — 0.8019971

—2.15185 — 2.585901

0.827994 + 0.6745831

0.085415 + 0.8247611

1.16249 — 1.823841

6.57065 + 4.444191

0.085415 — 0.8247611

1.16249 + 1.823841

6.57065 — 4.444191

—0.863831 + 0.8026471

—4.29327 — 7.686071

—2.29729 + 4.735361

—0.863831 — 0.8026471

—4.29327 + 7.686071

—2.29729 — 4.735361

S| || |e|g|2 || (g|g|g|g |2 |g|g|g|g|g8|g|g|g|g|g|g|ge |

= —0.850278 + 0.8275101 —6.91480 — 0.199521 | —5.59281 + 0.1

= —0.850278 — 0.8275101 —6.91480 + 0.199521 | —5.59281 4+ 0.1

= —0.757117 4+ 0.9521061 —1.93934 + 1.092811 0

= —0.757117 — 0.9521061 —1.93934 — 1.092811 0

= —0.825284 + 0.8991931 —6.17694 + 3.078271 0. —2.726251
= —0.825284 — 0.8991931 —6.17694 — 3.078271 0.+ 2.726251
= 0.845830 + 0.8907401 —9.32972 4 0.72052] | —6.40734 4 0.1

= 0.845830 — 0.8907401 —9.32972 — 0.72052] | —6.40734 4+ 0.1




Solutions to I} V—1(vol + /=1CS) Cusp shape
u= 0.771222 4 0.9629431 —0.66571 — 6.107371 0.+ 5.650001
u= 0.771222 — 0.9629431 —0.66571 4+ 6.107371 0. — 5.650007
uw=0.836263 + 0.9172701 —9.24690 — 6.974331 —6.10425 + 6.456671
uw= 0.836263 — 0.9172701 —9.24690 + 6.974331 —6.10425 — 6.456671
u=0.332618 + 0.6728081 0.174284 — 1.3273801 1.54374 + 5.343831
u= 0.332618 — 0.6728081 0.174284 + 1.3273801 1.54374 — 5.343831
u = —0.802884 + 0.9621367 —6.49492 + 6.359251 0
u = —0.802884 — 0.9621361 —6.49492 — 6.359251 0
u= 0.792536 + 0.9770551 —1.60913 — 8.714931 0
u= 0.792536 — 0.9770551 —1.60913 + 8.714931 0
u = —0.798650 + 0.9821821 —3.7340 + 13.86961 0. —9.535031
u = —0.798650 — 0.9821821 —3.7340 — 13.8696.1 0.4 9.535031
u = —0.488576 + 0.5123241 —2.60376 — 1.443631 —5.78396 + 0.535751
u = —0.488576 — 0.5123241 —2.60376 + 1.443631 —5.78396 — 0.535751
u= 0.630218 + 0.1017431 0.59402 4 6.020581 —1.82523 — 5.204631
u= 0.630218 — 0.1017431 0.59402 — 6.020581 —1.82523 + 5.204631
u = —0.605378 + 0.0591207 2.43882 — 1.099521 1.50149 + 0.503781
u = —0.605378 — 0.0591207 2.43882 4 1.099521 1.50149 — 0.503781

= 0.492805 + 0.2061451

e
|

—1.73630 — 0.522141

—5.82516 + 0.812741

u=0.492805 — 0.2061451

—1.73630 + 0.522141

—5.82516 — 0.812741




II. u-Polynomials

Crossings u-Polynomials at each crossing
c1,65 WO+ ut 4+ w41
C2 w0 +23ut 4 w1
€3, C8 W —ut o pul
€4, Co u’® —ut® .~ 165u + 25
C7,C9,C10 w13+ —u+1
11 w0+ 3u U+ 3




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
c1,¢5 v —23y% oty + 1
C2 O+ eyt
C3,C8 YO+ 13y oy 1
C4, Co y?0 — 31y + ... — 16275y + 625
C7,C9,C10 yP0 49y . Ty +1
c11 yP0 +5y1 4. 4521y + 9




